Gegeben seien die Klassen aus der Vorlesung;:

class Cl1 {
char m1 () {
int b;
Cl2 x = new C12 ()
return x.m2(x.v, b);
}
}

Leiten Sie fiir den Block
{

int b;
Cl2 x = new C12 ()
return x.m2(x.v, b);

class C12 {
Cl3 v;

char m2(cl3 v, int w) { ...}

}

class C13 { ...}

}
mit den Regeln aus der Vorlesung den Typ char her.
Losung:
O={b:int,x:CI12} Ociz2 ={v:Cl3,m2: Cl3 x int — char } O={b:int,x:CI12}
[Ident] [Ident] [Ident]
O >yqg z:Cl2 Oci2 >rq v: Cl3, O >rg b:int
O >Egypr LorFVar(z) : ClI2!
[LorFVar] [InstVar] [LorFVar]
O D> pggpr LorFVar(z) : Cl12 O > pgapr InstVar(LorFVar(z),v) : CI3, O >gapr LorFVar(b) : int
O={b:int,x:CI12} Ocia >1q m2: Cl3 x int — char?
[Ident] [Mcall]
O >rqg x: Cl2 O > Ezpr MethodCall( LorFVar(x ), m2, (InstVar( LorFVar(z ), v ), LorFVar(b))) : char
[LorFVar] [Return]
O >Eapr LorFVar(z) : Ci2, O >gtme Return( MethodCall( LorFVar(z ), m2, (InstVar( LorFVar(z),v ), LorFVar(b)))) : char
O > Egapr New(CL2) : C123
[Assign] [BlInit]
O >gstme Assign( LorFVar(z),New(CL2)) : void, O D> stmt Block( Return( MethodCall( LorFVar( x ), m2, (InstVar( LorFVar(z),v ), LorFVar(b))))) : char
BlockVoid
: ) O > stmt Block( Assign( LorF'Var(xz), New(CL2)); Return( MethodCall( LorFVar( z ), m2, (InstVar( LorFVar(z),v ), LorFVar(b))))) : char
BlockLVarD
! ] {b:int} >sime Block(LVarDecl(x, CL2);Assign( Lor F'Var(xz), New( CL2) ); Return( MethodCall( LorFVar( z ), m2, (InstVar( LorFVar(z ),v ), LorFVar(b))))) : char
BlockLVarD
: ] 0 >stme Block( LVarDecl( b, int); LVarDecl(z, CL2);Assign( Lor FVar(x), New( CL2) ); Return( MethodCall( LorFVar(z ), m2, (InstVar( LorFVar(z ),v ), LorFVar(b))))) : char
O={b:int,z:CI12}
1 [Ident]
O g xz:CI2
[LorFVar|
O > gapr LorFVar(z) : Cl12
9 Ociz = {v:Cl3,m2: Cl3 x int — char }
[Ident]

Oc¢ia g m2: Cl3 X int — char

3

[New] O D>pggpr New(CL2):CI2



